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第１問 

第１問には四つの意図がある。第一に、近現代社会についての基礎的な知識及び教養を有しているか

を見ること、第二に、社会科学的な文章の読解力を有しているかを確認すること、第三に、大学生にふ

さわしい知的感性が備わっているかどうかを確かめること、最後に、論理力と文章表現力のレベルを測

ることである。これらを意図したのは、国際関係学部と地域政策学部のアドミッションポリシーが受験

生に要求している能力のうち、「外国語を含む基本的な運用能力」以外の能力を確認するためである。 

第２問 

解答例 

I believe there are many reasons why the total fertility rate of Japan keeps falling. One reason is 

that many young people hesitate to get married because marriage does not look beneficial anymore 

in our modern society. For men, who had traditionally expected women to prepare meals, they can 

buy meals any time at convenience stores. For women, who had traditionally expected men to 

support their life economically, marriage is a burden for them. They prefer to enjoy their freedom. 

Another reason is the access to higher education, which led to getting married later in life. Many 

years ago, both men and women tied the knot right after high school. Recently, however, more than 

70 percent of high school graduates go to university. Well-educated people are more career oriented. 

If they get married and raise children in their twenties, they think they will sacrifice their careers 

due to the burden of childcare. 

 

出題の意図・ねらい 

 

日本の少子化問題についての自らの考えを、他者に対してわかりやすく英語で伝える力を問う問題。求

められていることに的確に答える内容となっているか、アウトラインがわかりやすいか、スペルミスや

文法の誤りがないか、英語の表現力があるかを採点の基準とする。 

 

 

 


